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MAT 1340 Writing Project #1 Solutions Fall, 2024 Mills

#s | —4 Use the quadratic formula to solve each of the following quadratic equations for x. Be sure to compute the
discriminant, first, and separately. I'm looking for that on tests, as well, whenever you face a quadratic expression. It
modularizes the work, and 1t tells you what you're getting into.
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3.

13x" —=12x+17 =0 (Give an exact answer, in simplified radical form.
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#s 5, 6 Solve the following quadratic equations for x by factoring. You may use a sledgehammer, 1f you wish, but write
the polynomial in factored form, after you find the solutions, to show you understand the connection between factors and
solutions, frontwards and backwards! Give answers as integers or fractions, in lowest terms.
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6. 308x -317x-735=0

Method 1: Old-School Factoring:

"\'—308 h=-2F C=-I3S
(31703(—-1—35)’ - 120380 = MAGIC =

See next page for Sledgehammer.

Factoring by the ac method, however
you do it (My way's unconventional,
but pretty systematic), gets really hard
with bigger numbers.

We can look for factors of the ""Magic Number" that add up to -317 or we can play Price Is Right!

I prefer "Price Is Right!" We look for numbers that add up to -317 whose product is 226380
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SLeDOLHAMM SR
rle oot~ x ~335 =9
We used the Quadratic Formula on #2, which is what we have, here, in #6, when we multiply
#2 through by 100, so,
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By recognizing the connection between zeros of polynomials and factored form of polynomials
from the reverse direction, we obtain a factored form of the quadratic polynomial.

You were trained to use the zero product principle and factoring top find zeros.

Now you know (and hopefully see) that not only do factors give us zeros, but that zeros give us
factors!



Writing-Project-1-solns.notebook September 17, 2024

#s 7— 10 Solve the following quadratic equations for x by completing the square. Do not use decimals; rather, use
2
fractions, as needed, to complete the square. For example, use [5} , instead of (3.5)2 for #7.
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9. 3x*+7x+13=0
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